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QUESTION 1

Click the Exhibit button. 

You execute the cluster1::> network ipspace show command, and notice that two IPspaces are not able to 

be renamed or deleted. 

Referring to the exhibit, what are these two IPspaces? (Choose two.) 

A. IPspace1 

B. Default 

C. IPspace2 

D. Cluster 

Correct Answer: BD 

 

QUESTION 2

To which three objects on an ONTAP 9.3 cluster would you assign a QoS throughput floor? (Choose three.) 

A. a volume on FAS 

B. a LUN on AFF 

C. a volume on AFF 

D. an SVM on AFF 

E. a file on AFF 

Correct Answer: BCE 

Reference: https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.pow-perf-mon%
2FGUID-77DF9BAF-4ED7-43F6-AECE-95DFB0680D2F.html 
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QUESTION 3

If an SVM is renamed and it is participating in an intercluster SVM peer relationship, what is the result? 

A. SVM peers are removed and they need to be re-created. 

B. Snapshot copies are renamed with the new SVM unique identifier. 

C. SnapMirror relationships appear as broken and a resync is required. 

D. Remote clusters are updated with the new peer SVM name. 

Correct Answer: A 

 

QUESTION 4

As an administrator, you are asked to enable deduplication on volumes that are separated by workloads 

on a FAS8200 system. 

On which volume would you see the highest savings from enabling deduplication? 

A. home directory shares 

B. virtual desktop environment 

C. file share 

D. SQL database 

Correct Answer: B 

 

QUESTION 5

Click the Exhibit button. 

An administrator needs to configure ports for peering. Referring to the exhibit, which ports should be used? 

A. CDOT93-01:e0a and CDOT93-02:e0a 
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B. CDOT93-01:e0e and CDOT93-02:e0e 

C. CDOT93-01:e0d and CDOT93-02:e0d 

D. CDOT93-01:e0f and CDOT93-02:e0f 

Correct Answer: D 
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